SF54 9 H 28 H

AARY =3V v 7 832 (GE i)

IRV IEEGHEL 1 7HHERICONT

EEUZOWT, UFDOLBVELEVELEOTIRNHL LIFET,

SHSFEESE 1 O+ (FHMSFE4A~E6A) @
DirvVEER EEXER) OBEY I 7HITER (ERIE)

F£1OEHOHES 7

81.7%
[5%£]
(1) P9 = 2 0 GE ERGHES = 7 /Wi B OHeR [ ]
S 4
#AR — :* it —
£1Q B 2Q % 3Q % AQ
HME>T 79.8% 80.3% 81.2% 81.6%

Q:U -4

(2) W&o GE ERAE R = 7 /W RIEHRENE, GE EHmELED 50
R 2 b L1, TQVIA HOF— 4 22 MR L7 T 5.,

(3) v=7 OFEIE:

[GE [ 3£ 5 0%k &]

[GE EHfhD L =7 ] =
[GE 35D & 2 e E 3G 0% E] + [GE E3G 03k &]

[HR&E]
HARY = U w7 SR
ek 03 3279 1890




